[l %
CB(1)354/98-99(01)(b)

R E T (G
15 of B YRS Y B

—*‘—Eu

(U S R R T“Wﬁm%?iﬂ: e
= & I
[

w’wﬁE%%°W%’¢Hwm%$¢WF7H@TH’”b Rl
SRESEEZ NN YRRl
- BRI

AR 'JFUY* A RIS ] TR Elﬁhﬁﬂ*é"ﬂj TS 10 E pppadiag
pl# 1 5”1998 10 7] 5 [ RS Fj‘*l—[#a‘;ul}ﬁ ;«ﬁ&[%ﬂ
i G TR RS- T 1998 * ﬁ?ﬁﬁfg‘y

e F1 T k{rifl'fgﬁmﬁ 137 - B~ 2R 5t 5 B‘IIIHFJ”?%WE"’J%E"H 7o H]
}{ﬁ?}%{\j\ 10 iF FIJIQHFJ'} F[;L I’j ;i [[—“ [/FIJ s -JF[—+_I,M ;Lj‘p}{/ﬁ N Z ”
FLSIE B 306 % 1 5 St iﬁ*%wﬁﬂ%
30 3 SR [R TO Y R BT VIR T A EIJE(QﬂIH

FIR] » 0 95 o g R BT R 8.4 [ o ZRERYRE TS
Pk 3 7 7 83% -

l@%’“fh b I T FIHFJW 7J< PV cuf*‘*E 9% = PRt B A
R B I 1% 7 PRI 5 5 [JEJ =5 M5 8 aE ﬁmﬁ 35 - PRV E 5] 57
S 5T IV 30 57 10 A9 3T 1 p&a‘fz HR R 10 F m o R A AR B
29.16 [t % 29.56 {7 » H HIZE RS % 5 I BRI I RR i 60% -

N I Y3 2 5 4 4 IR R

IS (P15 93
B o iy 2R 1 - R R A AR (i 409 -

40.26 {7 = 43.06 {

1=

10 1 s [ 2L o

7} 1997/98 Py 8.4 [ S R Y Pl TP 74 fRCRL P B
PR PEE LR AR S

EUR 4 F) 1,742,000 ff (= 26 2] 21k 220,000 & ZE{= 2602 50 F R £HT
(R “IJ?FI 13, 000 EREan i S e TR IR



I RN SR LI AN TRl 'E SUEN (&L RO
£ F] 1,500 7 o

13%FV E 0™ N R = RS R Fak o [NIEZURECN £ [ PR
B0 o R FRE R ERAE &

14.5% 117 5 I §£ 0] p S 36 4 o 19 A
Ao PNIEZ R AY Y] (2 4 W -
%“ﬁEEHIH'*%$“7Fﬁﬁ?“
7J‘<%EI :
38.8% = &F ] 1= 112 ~
21.3% % = 3% 113 & = 180 7~
22.5% %= = 3] 181 & = 389 &
2.9% 5 F Fi] 39077-5‘/[] °
TR

b 105 DU QWIS S EE R A R BRI T
i Engﬂﬁﬂu 87%F = 95%- f {1 * [ 147 ik f{J%WFIFWﬂ &P
57 1 ﬂﬁﬁﬂlo#&’ﬁﬁﬁﬁ 2683000 = 5 -+

FEECED o SR 54% » 2 F A VTGEE R #5670 &8 300 000 R -
T B S A O T (T S PO R TR

—fi

ERE R NTRES TR TE T S SRR

B LS A AU TR ERLER T S T
P fe ﬁwFWW?MW*31Hﬂ¢¢ﬂW¢f*ﬁrﬁwwﬂ“ﬁE

I
TG L SR I L P R S VB L Py 22% % 41% B g b T A
L

1R B T 20% % 120% -

B[] 2 [ a5 Y L EE‘HHM@@ FO T o DITRGE T 0 LR P 1
AEEE I ST MR s BEREIL {éﬁﬁv}"ﬁ'JEIF%E'ﬁ %'Eﬂjﬁ”ZZ[ /L
MELR 4> B HERTH {é;i%frﬁ"ﬂ@r%ﬂ fffﬁ'ﬁﬂjﬂi 3.4 - E*[EJ?
FEPAYRL 3 [ = 5 R g ATHEE AR S S Lﬁpﬁg.ﬂ?ﬁ %E'ﬁ“ 30%
= 50% > 5 L)



L REE A # Ik 3,000 = 5,100 fl ffy o qE R e

B 3 [ PSS [l ;ﬁ AUEY RS 4 B [J[?Eﬁd , ﬁ;ﬁq;
&

,an*T F %ﬁﬁli}ﬁﬂ[ SAH A . fj[l% —)U:i 1,5 E[E“‘}IEI % B F[J,a” F[[il
EEE%E 26]3#[ {/D%fﬁ"_—iji 45 & [[EQHEI&%%TI‘J U"a'lFl i{ﬁl]}lf IJ38]Ift|

B J=" 12 F FF R4 10 ﬁiﬁ”ﬂﬂa?;f%&’ I A FRARE = < i 7
RS iﬁﬂfﬁfﬂuﬂ‘ Pt ff 195 7 B = AR AT Rl H"‘Tﬁ PRS-

B RS 4 A

Y IO U5 o 4 S (A Y - e
ot o Tﬁcgu S & AIPTE S P P g e R fE"%T?t
SN EIRE At Sy IR F1 575 > R [ i 79 - R a l
5 4 5B WA 5 BT

[ AR ER ?‘E[ (£ iy A

HEE Y % IFEY RS <4 [Mpuny %
IR = 82 7 49 @7 33 {7
s ElET 11
El EHF: R ET RV 35 & 7 19 & 16 &7
& [’*’jjﬁ[ﬁ 73
B e BT | = 138 [E 7 44 [E 94 [E 7
Hd
PR VS R PR 67 R : :
SEIST LR 3T 1V
G|

ERCREREA 1S - -

SPEIST 0B (1) 120 &7
(2) 130 & 7+ ; ]

(3) 230 fii 7 ; ;
(4) 260 i 7 ; ;

%JEIUI%L%IL%LJ L
1998 =+ 10 *|



AT I 14 15 o R B 5V 1 8

FIH g ZE T A
/@lﬁ Eﬁ:,/’f/\'j‘/
[:e‘zr /

P P 135 o PEREEE R Y 11V
FIH g ZE T A
P& % 3 o By

T B 1S o EEREEE 5T 113
UE 8!
UE W
%3
VE W
A B

bGP 1% 75 A PRV # e
—H% 2
- H%3
LE W

H PSR B
RIS P 15 - PR A B

—H% 1
—H% 2
—H% 3
SVE S
I3 2 B 15 o PR S b o
?ﬁﬂ%‘\'fﬁ”l 1998 = l%?#‘ﬁﬁ * EIJ?{?’?
ﬁf@?ﬁﬂxLA%Jﬁﬁ*

1997/98
(FIf7)

90

50
0

40

47
47

O O oo

137
137
137
137

703

840
840
840
840

1 F] 6.35%[VIF < — = 1998 F AV 5 & 3 FWEUP”J

2000/01
(pﬁjﬁ )

340
50
4
286

47
47

o O oo

387
387
387
387

950

1337
1337
1337
1337

2000 =+

£ B BL T S SR R B

(

=+ f[1—2010 #
PR

529
50
4
475

102
77
25

O O oo

631
631
631
631

1200

1831
1831
1831
1831

2000 & Eﬁaa 2010 #
A

(

_—‘mH
&Y
—

102
77
25

515

1625

1146
631

2256
631

1550

2696
1837
3806
1831

Z 2010 &

(FIF7)

529
50
4
475

102
77
25

515

555
1625
1905

1146
1186
2256
2536

1770

2916
2956
4026
4306

F R



A22:YAEFEEPRTR VPN RM

o 5 I o LB R

1997/98
HE (P ) 840
PR il 248 CEPrfy ) 740
GRCREE £ 4 (IR 100
P T R 1,962,000

BRIV B AR () 377

o S S R PR SeR R A (I PRI

) 2 (S T B + R

1997/98
HE (P ) 840
PR il 248 CEPrfy ) 740
(R CF A I & 4T CFrfT) 100
BE ET AR B 1,962,000

SRRV S HE] (R 377
“% FHTN (97/98 % 09/10)

4% 1

2916
1132
1784

3,000,000
377

“Ui’ 1

2916
2569
347

3,000,000
856

2.3Fﬁ

2009/10

4% 2

2956
1132
1824

3,000,000
377

2009/10

“tjii' 2

2956
2604
352

3,000,000
868

2.3(%

%3

4026
1132
2894

3,000,000
377

%3

4026
3538
488

3,000,000
1179
3.13Fﬁ

“Ui’ 4

4306
1132*
3174

3,000,000
377

“Ui’ 4

4306
3793
513

3,000,000
1264

3.4Fﬁ



(5] 3 2 U0 o e R B R R N P

J

1997/98 2009/10
BE (P 840 2916 2956 4026 4306
TSR £ 48 CFIE R ) 740 2916 2956 4026 4306
AR &4 (FIf ) 100 0 0 0 0
IS CTR 1,962,000 3,000,000 3,000,000 3,000,000 3,000,000
FEEFI H R () 377 972 985 1342 1435
©1% FHT (97/98 % 09/10) 2.6 ff 2.6 ff 3.6 ff 3.8 ff



